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Instructions : | | . |
(i} All questions are compulsory. Internal options arc given in question numbers

6 to 26. o | - | |

Question numbers 1 to § are objective types questions. Each question carries

S marks and cach sub-question carries 1 mark. :

(iiiy Question numbers 6 to 10 cach carries 2 marks. Answer these questions

approximately in 30 words cach. .
(iv) Question numbers 11 10 14 cach carries 3 marks. Answer these questions

-

{i1)

approximately in 75 words cach. .

(v)  Question numbers 15 to 21 cach carries 4 marks. Answer these questions
approximately in 120 words cach. .

(vi) Question numbers 22 to 26 cach carries 5 marks. Answer these questions
approximately in 150 words each.

{(vii) Draw neat and labelled diagrams wherever necessary.
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1 wd e gaet fafag
(i) -~ welwe HEA (micro) A H A HH A orefare ¥ -
(@) wefer - (b) ST
© @ (d) TR fpyr
i) I P oA ¥ Reed g e ¥ 7
© (@) g ey (b)
(©) (a) R (b) &L @ T ¥ B
(iii) UBRIBA IR FqT W FRar &7
(a) SR WO (b) faawer uRear
(c) 9 _wgh ) T A P T
C(v) W el F SUERT @ R e §7
(@) o frfer (®) I e
. (@ faEw d) T ¥ @i
(V) STHEl HET Bl g9 § U9 dr @l —
(@) Fem (b) =M
(©) Rex wm @ T ¥ BE T
Select and write the correct options : ,
(i) The word micro was firstly used by Economist -
(a) Marshall (b) Boulding
(c) Keynes : (d) Ragnar Frisch
(ii) Supply is associated with- - '
(a) A time period (b) Price
(c) Both (a) and (b) (d) None of these
(iii) What does monopoly market show ?
(a) Production process (b) D1str1but10n system
. (¢) Nature of market .  (d) None of these
(iv) What is consumption of fixed cap1_tal called ?
(a) Capital Formation (b) Depreciation
(c) Investment - (d) Al of these
- (v) The employment level in the state of deficiency demand -
(a) Will increase (b) Will decrease . -
(c) Will be stable (d) None of these
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-~ (id) In perfect competlt

ﬁﬁ?ﬂ'ﬁ’faﬁiﬁfﬂﬁﬁq . , | , . T1x5=§

(@) &lﬁﬂﬂﬁrmmgﬁrm\ m%|

(i) W%Wﬁmﬁaﬁtwaﬁ'( ﬁna’raﬁsrrfhﬁﬁﬁm
T ¥ |

(iif) TR - HT P W"%”

‘(iv)'wi‘fw‘iﬁ‘ qu@aﬁﬁmwh

(v) | "9 = _

Fill in the blanks : B

(i) Medium of exchange is a “function of money.
(ii) In Balance of Payment mcludes visible and- both items of
‘the trade.
~ (iii) Income tax is an example of . tax.

(iv) Budget is presented in Parliament by
(v) Mid-value =

A [ FTqd fafaw " - o 1x5=5

@) aﬂtmﬂ%wa@{ﬂé‘r%l

(i) Tiq%ﬁﬁmwﬁﬁw~urﬁaﬁfﬁﬁ%|

(111)@%3%@@%&%9@&1?%?&“%1
(iv) %ﬁqﬂwwwwmaﬁ%mﬂﬁ%i
(v)glmﬁé’rlsraﬁﬂﬂgﬁ‘rlﬁﬁw%l

Write True or False::

@) Tea and coffee are not ¢
ion market — firm is a price-taker.

omplementary goods.

(iii) The demand for consumpnon depends upon propensity to

consume.

(iv) Medium of exchan
(V) Balance of Payment is always balanced.

ge is not a primary function of money.
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(ll)wag%ffﬁﬁﬁ‘rw. (b) aﬁaﬁiﬁraﬂﬂlﬁ@ﬁﬂhS
HE Bl
(i) =AY Fged (c)  owaar &Y
(iv) IUE b - (d) oM & ordar Sy eﬁircﬁ
(v) owgfem &€ (e): A &t gfif
Match the columns : S |
A" . | e
(i) Equilibrium price ~ (a) Hartley Vidarsh -
~(ii) Money is that, what | (b) Import and
money does. Export goods
(iii) Balance of Trade (c) Indirect tax
(iv) Excise Duty (d) Expenditure is heavier relative.to
' income.
(v) Unbalan_ced budget - | (¢) Demand and supply .

Th /a9 ¥ I9X Sf\g

() o BT 1936 ¥ fafew gew wm T e
(i) ATM & Yo &9 1. %7

(i) 9 ¥ @ W w

(iv) 20-30 &1 = d@mrd faRaa)

(v) Frdotis @ swifrar fafae) -

- Answer. in one word/sentence :

(i) Write the name of a book written” by'Keynes in 1936
(i) What is the full form of ATM. ?

(i1i)) What do you mean by budget ?

(iv) Write the class limit of 20 — 30.

(v) Write the utility of Index Number.

AT aifeist B W @ By &0

How many are types of demand schedule ?
| s | OR
gicreama= aﬁaﬂ a ad fefea |

Write the meaning of substitute goods. .
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7 wg ¥ ST od SRR ®T. e B fear TI7 : : 2
When was the National Income Committee established in India ?
3 /| OR : |
Wﬁv@amaﬁwmmﬁq@%?.

Who is calculating the national income jn~India ?

8 o & dr mwar R 7 . '_ | 2
‘What is the marginal capacity of capital ? | |
Fyar [ OR
SUHIT & R wed ¥ 7

What is consumption function 2

9 W wiw fred ¥ O mE @ ufemwr ffed 2
Write the definition of money accordingttd Prof. Hartley Vidarsh.
st / OR '

w. fme F AR gar & ofwer fafad

Write the definition of money according to Prof. Seligman.

10 Fr 2ot @ faw @ o @Ry N 2
150, 145, 100, 120, 190, 200
Calculate the Range from the following series :
150, 145, 100, 120, 190, 200
sy /| OR
frTa SO gRT el S & A g faiagl

Write the formula of median by the method of individual series.

11 =t & d @ T fwag, - - 3
Write the importance of elasticity of demand. -
| s /[ OR
o @ mfa F0 T B farfea
Write the factors affecting supply.. .
12 gofedr dreee off & @EEdL s
- Explain the perfect elasticity of supply. |
o sy /| OR
W @ i e AW e e

Write the factors affecting demand.
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14

15

16

17

18

140

10 — 20, 20 — 30 &T 30 — 40 |
Write the class interval of the following classes :
0-20 20 — 30 and 30 — 40

S OR
fory em%“r ¥ agd® ﬁ‘ma—rr T BT
10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20
Calculate the quartile deviation from the following data :
10, 11, 12, 13, 14, 15, 16, 17, 18, 19, 20

0 — 10 3R 10 — 20 & 7eq qmy S0 AR

Calculate the mid value of 0 — 10 and 10 — 20.
sy / OR

T ﬁé‘smﬁ & g fifag)

Write the formula of Index number of Paasche.

ofte sty @ i X faswand faRaw)
Write the characteristics of micro economics. (any four)
s [ OR

gafte FdITe & §F ARy

Explain the scope of macro economics.

gof i s @ e R fovard fRed

Write any four characteristics of perfect competition market.
sy [ OR |

qui gfearl g ud wertEerd e # sy fafeg

Write differences between perfect competition market and monopoly market

T o Ta e % o Riaw

erte the qualities of good money. .
sy /| OR

%T@ =T i T A efax fafag)

Write differences between metallic money and paper money.

YA Fge @t are fpsivand fafa)

Write the four features of Balance of Pay_ment'l

L : st / OR

Write the components of Current Account.
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20

21

22

| =g A|BI|CI|D |E

'qma;ﬁweﬁmﬁ‘f

qeae et SWTE BT T IS fafga | 4

Write the examples of direct and indirect tax. : |
G [ OR

T & TR ¥ WM faia)

Write the names of the types of tax.

afpe Ao @ faRrEl & oA faRem) . 4
Wwrite the names of methods of measures. of dlspersmn | g

' Er /| OR
e foaem ud WO s ¥ w9 @ ey fatewl

Write any two differences between mean deviation and standard deviation.

Rrfstios WXET H O AT O disAgdl @Y faragl | 4
Write four difficulties in construction of index number. :

s /[ OR
ﬁ%ﬁ&@mﬁwﬁwq{ﬁﬁ%mmﬁﬁwﬁmml

1989 ¥ wwa (&) | 50 | 40|80 | 110 |20
| 1990 # =7 (v.) | 70 | 60 | 90 | 120 | 20

Calculate the price index number by simple aggregate method using the

following data :

Item AlB|C|D |E

Pricen | 55140 80 110 |20
1989 (Rs.) -.

1990 (Rs.) | S

Wﬁ%ﬁuqﬁqmaﬁwaﬁﬁaﬁﬁﬁy 5
Describe the assumptions_ of law of demand. ' |

- @ [ OR
&1 davte B

Describe the exceptions of law of ,demand.
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23

24

25

26

TR oy a@i@d & "o fRag)

Write the importance of the national income counting.

S / OR
_Wmﬁmﬁﬁmmmﬁwﬁm

= & (T0)

— 8,000

e - 5,000

e 20,000

a9 ik wwigd | 30,000

T & 10,000
Calculate the national income by income method with the help of following data :
Items Crores (Rs.)

Rent _ 8,000

Interest 5.000

Profit ~ [20.000

Wages and Salaries | 30,000

Depreciation 10,000

%—Wﬂmmmﬁaﬁwmaﬁﬂwﬁu

Explain circular flow of income by two sector model.

sigat [ OR
Br-asi \isd T oMY Fawig waw @ gHeEEd | |
Explain circular flow of dncome by three sector of model.
Describe the types of budget.

s /| OR.

¢ % Ued @ e dfl
Explain the importance of budget.
ﬁw%ﬁyamaﬁﬂmm“ﬁ’wmwmwﬁwaﬁwaﬁﬁm
54, 57, 52,749, 42, 56, 47~ _

. Calculate mean deviation by mean with the help of followmg data

" 54, 57 52, 49, 42, 56, 47

g / OR -~ ' _
ﬁwﬁrﬁaammﬁmm—ﬁwmwﬁwaﬁmmy

54, 57, 52, 49, 42, 56, 47 |
Calculate mean deviation by medlan with the help of followmg data.--

54, 57, 52 49, 42, 56, 47
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